MEsRDA RN HEHEIRERS

BR3-2

HER D

F5O<Y

EENTET

Col

=RER BE | sk | Esien S ) PIBEE | SHIEE | SHLEE | STEE | AR
1 aggg;ﬂwgiﬁg J\_f%}?fg’ﬁ BiR 10 10 10
AL TR L A 1| - emsszosmms B |se 10 10 10
ERER 100. 0%
1 16 16 16
2 | - |MemsEmER JNMES" 16 16 E
PR 93. 8%
BiZ 60 60 60
3| 3 |LsssmmmxoxmEs | B |26 2 52 2
R 66. Th
PTANMERETHERRUARA B ° ° °
4| - |EEESERNBECRE | B B 4 5 5
R ERE 100. 0%
AEBE - FAMHES 0% o - - -
5 e v =SETE | | 12 12 12
PR 100. 0%
2 LINCDAL o i L 6 8 10
g%é;gz_g“ 1 _ %ﬁﬁ_ﬂ%&j—_y‘nggﬁugg @ |=m 7 : :
AR 83. 3%
e ,_ A1 1 ] ]
) _ %%;ﬁ,\ﬁz@‘rﬁﬁﬁffﬁ@%ﬁ@ o |=@ 1 1 1
ERER 100. 0%
Bz 12 12 12
3| 1 |PAEmEoxmEg CIESD B B 12
R 100. 0%
3 _LEDE o BiZ 10 14 17
FREXA 5 R 280. 0%
e R SRS THEEIRTE 3 B 64.0 LA 70.0
2 - @E)ﬁ%ﬁ@?@%ﬁ’éﬁ?éi% % |EH& 58. 6 58.6 58.3
i R 91,15




EAEE o FRD[£53< 1 ZETaE
& Hlellt | B BER B SIREE | SHIEE | SIDLEE | SHEE | SHIEE
Tﬁ%bﬂ%%%gﬁ:%}i Bgfﬂg Bz 55.0 60. 0 65. 0
B REVDIRICLY ., FEE: -
} ez \sREERDE | BN 45 485 5.
& [hER] ERER 100. 2%
T§§£§%§6553?§ B 63.0 66. 0 69. 0
_ RFUDIFIC . FEES =
3 %E&H‘TL‘%L%EEE&E@%U % ;ﬁ‘ﬂ 56 5 43 3 42 9
& [FER] ERER 68. 1%
2tg%$:§£g ckr 1%%%&%@:3)\% ODTnE%IC B 100. 0 100. 0 100. 0
BUFRE B DEHHIT. FROBEKED =
nELBERZD | 4 - | BEcEheor, cEom=| % |EE 100.0 100. 0 100.0
KREXAD ROEIE [IER] SRR 100. 0%
;?ﬁ%giﬂﬁgé\% U)Tjﬁé{gg Bz 100.0 100.0 100.0
_ fHIE. EFROEEK? =
4 ﬁil:%%b\ﬁjtj t%{5$ % %l’f‘ﬂ 1000 1000 1000
ROEE [FEFERK] ERRER 100. 0%
BT (B |- (R B 75. 1 6. 4 77.6
_ FROZELDRICHREES =
5 7’3\\%7_‘”] LJE?F)E@%U’S % %ljﬁﬂ 72 7 77 4 80 6
SRR 107. 3%
W%&UEWE@J%Q?H%E BHiZ 77.8 88.9 100.0
6 5 %ﬁd)ﬂﬁﬂ%z{ tZ U7z iEsk DE| % |EfE 59.5 61.1 77.8
= ERRE 100. 0%
T B 26.0 27.0 28.0
FAin ch -ﬁ EE}% =+
7 5 E%@EFH%U% % %l‘ﬁﬂ 183 287 269
ERER 103. 5%
7‘} Eﬂg{%ﬁgfgg S5 L Bz 56. 0 57.0 58. 0
ZxiElC ZoOF MES b 27U 2R =+
UEEDBToE | ] S (it Sy % |EMH 54.4 50. 5 47.1
%;xu bz KYIICT ERER 85. 2%
SACIREESE (AEHE B 4,800 5 250 5 700
2 - B REETIRT 1N, A =& 1,369.00 2,539 3,284
B 1,800 2,100 2,400
3 - T EREERFRIRD ALEE LN N E= 1, 450 2,196 2,568
ERER 142. 7%




i)

F5I<Y

hENTER

Gio)

EXRER HER HlEt | B RES E SIREE | SHUEE | SIEE | SF6EE | SHEE
5%5<3 EmtsEiEET | | - [BEDS, BRIRTSE L o |=a 7,597 7,621 9, 741
G SRR 17. 4%
BiZ Tl 70 T
2 4 |KBEZEOBE H |E& 70 70 Al
R 100. 0%
Biz 13,073 12, 448 11,823
3 - FERRZAESZEN A |E& 9,533 9,917 9,223
R 70. 5%
Etég%¥§§ Biz 160,000 175,000 190,000
Sz EEES | | - |BERABEERFERAAERK UNIES - 125,034 138, 476 174,716
<% ERR R 109. 2%
R o Biz 83 83 83
2 | - kg VIR | e (e 53 30 81
AR 97. 6%
. Biz 4 5 6
R 250. 0%
EIS 9 e st s Bz 95 98 101
Kﬁfﬁu%%g 5 ZC@ 1 - ﬁiﬁgggg I SEERAIR VNIES - 89 140 87
XA% SRR 91. 6%
BiZ 22 25 28
2 - FEHESIEHN A |EE 19 117 21
AR 95. 5%
BiZ 12 12 12
3 - ERFEHERMEIE O] |EHE 12 12 12
R 100. 0%
s Ui‘%gg‘&g Biz 1,431 1,481 1,500
FEEEA e | 1 |xEREAses o |=m 1,331 865 1,424
G SRR 99. 5%
_ ] ] BiZ 3,500 4,000 4,000
2 S A f gl B 2,283 2,550 2,786
FERKER 79. 6%




~ = 5< L j Eie
EABE ek | Eer EEZ ET e e | AR | SR [ SRR
B 10 10 10
3 - BVFREEERERK Sil NS 10 10 10
R 100. 0%
Eié%ﬁ@%@ - . E%: 24 2 2
Zxer>< 3 1 - ZFLUIh T IDORER B |=4E 22 25 24
SR 100. 0%
- “ Bi= 200 400 200
2 - ;&3“374#_'&2*”%% A = 297 20 284
ERER 71. 0%
B 10 10 10
3 - ZAND T THBAMAEL NI = 35 36 35
R 87. 5%
S B 2,134 2,190 2, 248
4 4 @Eéﬁ%ﬁ&( - NI E= 2, 005 2,140 2,317
ERER 108. 6%
© ml 28 . e 5z 9, 250 9, 500 9,750
Bantgoea | : gﬁ*%g%%‘a TOREESE | g |z 8, 885 9,798 7, 668
ERER 82.9%
o B 6 6 6
? _ ﬁgﬁgﬁﬁﬁ/\ J7D J_ﬂﬁi% ,ﬁ: ¥$§ 4 4 ?
R 33.3%
a5z 50 50 51
3 - BERR T 9 —DHEZHREE % =& 16 66 151
SR 302. 0%
NS A BEas Bi= 35 10 10
‘ - ek AOMREZ A |2 25 37 42
EE 120. 0%




Gio)

—— i RO [E5<0 ZEEE
FEE | B EEZ BT SIBEE | STIGE | SIGE | SHEE | SMIEE
caiases o |GlcEsuaE | 4 | EREEREEREY INIES 10, 595 10,532 18, 041
EEDL 3 SRR 145. 5%
BiZ 65 68 71
2 4 KERFDE R EMEE H |=E 59 66 70
ERER 107. 7%
BiE 1 1 1
3 - [N kBB TEERS | B |2 1 1 1
SERE 100. 0%
ﬁgj Efyiﬁ%@%ﬁ&% EL: 10, 585 10, 685 10,785
TESHRZEEE 1 - FHIBKT R EEEL B (=& 10, 385 10,535 10, 639
BEd ERE 100. 5%
BiE 3 4 5
2 - THE Y TEEEEE RO B (=& 2 2 4
ERER 133.3%
3 HABDIE B 16 16 16
DoResIol | 1 | - |ezesmmmommEs | B |28 ] 8 16
WEExHIET SRR 100. 0%
BiZ 60 60 60
2 - B RHEDHRERERL S 56 46 45
ERER 75. 0%
4 BHEERCEMILE |1 BHoREE B 15 it 15 Bt 15 14
QEEIE%E%NEM& %‘;‘égggkﬁlﬁg 1 - |WMREEZEESH TV DR | #X (=& 15 16 16
R SRR 106. 7%
I — BiZ 49.6 49.6 69. 6
2 2 *?;%ﬁ PRETRISAEIRE |9 =4 0.0 0.0 49.6
SERE 100. 0%
BiZ 16 28 41
3 2 ZEREFRANEL =& 0 0 41
ERER 256. 3%




P - BED[E5< U i} EEIEE
LA | ExbER 1EEH =livi SH3EE | SHAEE | SHEE | SHEE | SHTEE
2 RECREL Bi= 14.6 21.9 26.2
EEE DB & /N N e -
B EEES 1 2 RIEEGIROE R FESER % |EfE 3.5 11.1 11.3
H3 ERR 77. 4%
BiZ 58.0 79. 0 100. 0
2 1 BY & D RRHENDEER % |EfE 38.0 44,17 58.3
ERER 100. 5%
o N BiZ 66 66 66
s | o [THERSZIBERUET | g g o n n
ERE 100. 0%
3 BLEPTS Bi& 5 6 7
SORMERRT | | RERECOREEERES | o (o 3 : :
AR EEFTE (28T
ERE 100. 0%
BiZ 21 31 20
2 - | ~ERESCUELR =& 28 20 117
ERER 81.0%
BiE 260 260 260
3 - BIAGMEERER MR | 4 |EE 211 198 197
ERE 75. 8%
iﬁﬁ% 151%%@% EL: 6, 484.0 5,325. 0 5,476.0
A EEs | | 1 |BHUEKEEOSHER | m |2E 3,992.5 5,296.8]  6,197.1
2<5 ERER 95. 6%
BiE 3,500. 0 6, 200. 0 3,000.0
2 1 R TKEBEDHRRLER m (=& 2,370.0 2,370.0 1,267.4
ERER 36. 2%
BiZ 83 83 83
3 - SHMUEHCBGESREREY | B |RE 75 82 61
ERE 73. 5%




HABE W TEZRD igj‘i"} _ SHEEER
HEE| Es ED BT STREE | SHIEE | SAAE | SHEE | SAE
5 EXNTXCHALE (1 BAOBAZ Biz 133.1 136.8 136.8
ZLoINBENN0SS \ZRLEREEE | 1 | - (e somEE e 256 126 2262
B3 R 169. 9%
BiR 2 2 2
2 3 XIET DERFREAAME A |EE 1 2 3
ERER 150. 0%
Bz 1,200.00  1,320.0]  1,450.0
3 3 |REREE AR ES- 991.4 9%61.4  1,351.9
\ <
SR 12.7%
B - - : - .
k| - - : - :
EERENS GEDRR) EiE 3% R s A
5| 3 |[BEERR RO % |seeE i 0 0
R =
2 _F50HmDL BiE 1 1 1
ERRSEIEE | 1 | - |mraaes r =@ 0 0 0
t=H3 YRR 0. 0%
B 5 5 5
2 3 |BIEXEMmEIERIAER B |=E& 3 3 2
EERKER 40. 0%
BiF 0 RE RE
3 2 RN EER K =& 2 2 0
HERKER -
3 égﬁg‘%g% . Bz 8, 500 9,000 9, 500
AE@=OgLE | | - REZRESENTTTTY A | 7,816 6, 643 5,791
Fzo<35 ERRE 68. 1%
Bz 3,500 3,500 3,500
2 - |BEEutt Y Y —FIRER A |EE 3,388 3,581 3,517
EERKER 100. 5%
TR AN T F AL 3% ” A A
S 2 | Gimile) = : Z 0
FERKER -




Gio)

HAEE W iz <10) igj‘i"} _ SEHENEE
Hetk | B BB BT SIHEE | STUAE | Sih5E | ST0EE | SNEE
Lngesoes w  ° |Emomarey | - [RRFBEOSMAK YNEES 79 172 180
BAEDHEHHS R 200. 0%
Eo<
- = 321 321 321
2 - |RORCSANOTLRRE | g |2 321 321 316
R 08. 4%
BiZ 4 4 4
3 - KD UDIFTHABEZEREEE B |EfE 4 4 4
ERE 100 0%
> RO e : ; 4
LEENTILR | 1 | - |cremarmmsmmEs | B (= ] 4 3
SR 100. 0%
= 3.0 10.0 36.0
2 6 1 AR HEEREE SR % |EfE 0.0 0.0 3.0
ERER 100. 0%
'?5 ﬁ%ﬂzﬁfgﬂé ] BiZ 1,025 1,050 1,075
SIS I - |35 onvsmEs A =& 976 1,181 7,658
Bigd SERRE 161. 8%
] n - = 382 RE 148
2 6 |Epn HERBIERN | | 292 113 M
R 97. 4%
= R R R
3 6 BHHGE kwh |3Ef& KRE 0.0 0.0
i -
Bz 7 9 T
4 6 EXBEE (NAE) D5 =EES 4 4 7
ERE 100. 0%




HEAEE Hs %%'0) %EBE’%{;%U __ _ - ‘;EEME'%A - - -
RTINS TS [ ER EiE8 =i = SHI3EE SAIAERE SHIVEE SHIOERE SATERE
AT A e AN . fo e J21-F 1 LUy —FIAE =] : 477, 698 477, 698 477, 698
BlDEEEDL S S EREE L 1 1 §5( A |EE 2817, 047 379,179 349, 422

B3 XIELAREZC ERER 73.1%
BiZ 12 12 12
2 - |MEREEHGEMBISRENR | 4 |EE 8 i 6
ERER 50. 0%
ERVHEREBEFADT s - - -
3 1 E%j]l]g;éf N B |=& 84 84 80
ERER 95. 2%
2 HIERPPESN BiZ 4 3 3
E DRIV R Z R "
RLEenEA | ! - RIFERT & DB ¥ |E& 0 1 4
Py Y EERKER 100. 0%
BiZ 2 2 2
2 - GhRERT & DITTREREL X (=& 1 1 2
HERKER 100. 0%
B 4 4 4
3 - E% - BRI EEIEAZL Bk |Ei& 4 5 5
R 125. 0%
3 ZREZHRRA e . BiE 5 5 5
TR IVmE | | | EESERAmNEES | g | . 5 5
EERKER 100. 0%
. N BiR 15 16 16
2 - %E%%gﬁ@%’@%“ﬁﬁ GINES 12 16 17
HERKER 113.3%
B 2 2 2
3 - PFIFFEEAGE (RED)  |EE 0 1 2
ERER 100. 0%




i)

F5I<Y

hENTER

Gio)

SABRE BoSR I | B Rz B SIREE | SHUEE | SIEE | SF6EE | SHEE
ébfgﬁjﬁ%‘?{g% ecica . BiZ 42, 500 44, 000 45, 500
BUseomnE | ] S it ki PN ETE 39, 434 40, 808 42,371
RN D R 99. 7%

Bz 70,0000  106,000] 142,000
SERE 30. 0%
Bz 25 25 25
3| - |[EronuommmsmES | A |6 (xRS 2 25
SERE 100. 0%
§ ?%ﬁEﬁE—C“XVfF@ ‘I/_ﬁﬁlv:”bEﬁ,—\\b gi= 100. 0 100. 0 100. 0
OUEESLRRERER |ROPREEERE | 1 | - | Asmesmns % |2 15.9 EX 35
ERE 34. 5%
Bz 13 13 13
2 - TR BHMEEEE B (=B 10 14 13
SERE 100. 0%
B RTE K7 R
3 1 | O Mo | S| 335,218.01] 335,335.78
R —
2 DXIc&afr - ] Biz 32,200 40, 900 49, 600
%ﬁi;ﬁééﬁ;ﬁé 1 - ;ﬁtj&ﬁﬂ_tzg&ﬁ# CINET 14, 780 30, 296 44, T34
tzmHd SERL R 138. 9%
I——— Bz 49. 6 49.6 69. 6
2 2 |mm iomm) | % | 0.0 0.0 49.6
SERE 100. 0%
o Bz 2, 600 2, 800 3,000
3 1R TIERORESES | o |2 2, 265 2,991 3,004
SERE 116.3%

10




EABE HEE FEsRD [£5I<Y THENTEIR
- ARME| ERbER izl {1 SHRFE | DHAFEE | SHOEE | SHEE | SHTEE
3 FmARE O Bz 98.3 98.4 98.5
SR BUES & F % 9 =
BAEOS0TEE | ] - | OUNRER % |EE 98. 1 98.3 98.2
BZHIIT5 ERER 99. 9%
BiR 250 255 260
2 - | TERBOBETOARERR | # (=& 242 232 2171
R 110. 8%
Bz 39,500 43,500 47,000
3 - RS2 A B DT ek X T [=E 30, 420 35, 646 41, 405
SRR 104. 8%

11



